ESSAY QUESTIONS

1.
What is the objective of external analysis? How would you distinguish between an effective and an ineffective external analysis? What would you say would be the most useful way to conduct an external analysis? Why? -Chapter 1 & 2-
The external analysis is undertaken to identify those factors outside of the organisation that will affect its choice of strategy. It begins with customer and competitive analysis, because these help define the relevant industry. External analysis also includes market/submarket analysis and environmental analysis. Through effective external analysis, management can then identify threats, strategic uncertainties and trends that will in conjunction with internal strengths, weaknesses, liabilities, problems, constraints and uncertainties will allow the firm to create adapt and implement an appropriate strategy. The external analysis is not an end in itself. It should be conducted periodically rather than annually but should be done so with direction. It should address questions such as whether an existing business should be liquidated, milked or maintained. It should identify value propositions, and what assets and competencies ought to be developed or maintained. As a result it should also address questions related to positioning strategy, segmentation, distribution, brand-building and manufacturing strategies. In so doing, good external analysis will identify customer motivations providing insights into what assets and competencies are required to compete as well as indicating sources of Sustainable Competitive Advantage. Crucially, good analysis will also help identify unmet needs that represent opportunities and indeed potential threats to the firm’s current business strategy. 

2.
Describe and give examples of a well-developed business strategy including the four characteristics. -Chapter 1-

Before describing each of the four key dimensions, it should be acknowledged the integrated nature of strategic planning such that firms need to develop corporate level strategy, brand and product level strategies informed by the overarching central corporate strategy. For example there needs to be a strategy for Volkswagen the company, for each of its brands including Volkswagen, Audi, Bentley, SEAT and Skoda as well as for the VW Golf. Four dimensions define the business strategy: the product-market investment strategy, the customer value proposition, the assets and the competencies, and the functional strategies and programs. This first dimension refers to the issue of where to compete and what markets to compete in over the coming years. In addition the firm will need to identify and develop a customer value proposition from a range of possibilities including, value quality, ethical commitment, innovation etc. Well-defined and good use of assets and competencies can become a source of Sustainable Competitive Advantage or at least as points of parity with the competition. Competencies are those things the firm does exceptionally well and assets are those resources such as a brand name that is strong relevant to the competition. Understanding how to protect these from copying by competitors will be crucial to maintaining that advantage in the long-term. Finally the firm needs to identify the functional activities that will support the overall strategy and drive change whether that is a brand-building program, a communications strategy, a global strategy, a sourcing or distribution strategy or any of a number of other options presented in the book. Key to selecting the appropriate business strategy is to ask a series of six question regarding the return on investment, the sustainability of the SCA identified, the longevity of the strategy under future constraints, the feasibility of the strategy and finally the fit with other strategies expounded by the firm.

3.
Discuss the advantages of a customizing rather than a standardizing marketing program in the context of a global strategy. When would customizing make sense? -Chapter 13-
On first glance standardisation presents many advantages to firms considering global markets. Essentially the economics of simplicity and standardization seems to overshadow the complexities of localized strategies. For example, standardization in production or communications can help generate economies of scale. Standardised brands may be easier to manage – developing a clear well-articulated brand strategy. Despite these benefits there are few truly standardized brands operating globally. Even McDonald’s tailors menus and communications to suit local needs. The result is that there are several contexts where a standardized brand makes little sense and instead customization appears a more appropriate strategy. There is a comprehensive list of examples in the book (pp.253-255) including where the firm has different market share positions or different brand images, different distribution channels, different social heritages and customer responses to name but a few.  All these contextualities indicate that tailoring the market strategy to some extent is optimal even if the customer value proposition is generic enough to transcend cultural barriers. This is because it may be extremely difficult to identify a strategy that supports a global brand due to the lack of human resources, creativity, information or simply execution skills. Instead firms should consider brand leadership – that is creating strong local brands everywhere that take advantage of synergies arising from coordinated efforts across markets.    
4.
Consider the implementation problems of merging Sears and Walt Disney. What synergy would you expect? How could you make sure that it materialized? -Chapter 7 & 15-

As a result of synergy the combined businesses should have increased customer value, increased sales, lowered costs, reduced investment or a combination of these outcomes. Generally synergy arises because the firms have managed to leverage some area of commonality such as channels of distribution, customer base, staff and operating systems or R&D efforts to name a few. But while theoretical synergies may abound, in practice it may never materialize. Sometimes this is because the synergy never really existed and at other times it is because of implementation problems or even a clash of corporate cultures. Aside from such considerations, such a merger may encounter problems with respect to organisational structure and the notion of silos preventing the fluid sharing of resources and information, communication and efficiencies in operations. Essentially there are four organisational levers that will affect strategy – people, culture, systems and structures. A merger between two companies like Sears and Disney would encounter challenges in each of these respects, simply because they are two entirely different businesses operating in entirely different product markets. Ensuring that synergies materialized as a result of such a merger would depend on the firms’ abilities to address silo-driven problems as outlined in chapter 15, and how they use those four organizational levers to help execute strategy. 

5. Describe scenario analysis using one of the cases discussed in the course as a vehicle to illustrate. What implementation problems would you expect if scenario analysis were to be adopted at Apple Computer? -Chapter 5-
Scenario analysis helps deal with uncertainty and does by providing a more cost-effective alternative to investing in information to reduce information. It is important to acknowledge that there are two different types of scenario analysis but that in either case, the process will generally be a 3-step one, beginning with the creation of scenarios, moving on to relating those scenarios to existing or potential strategies and finally assessing the probability of those scenarios. Firms can either undertake strategy- developing scenarios to provide insights into future competitive contexts, or it can engage in decision-driven scenarios whereby a strategy is proposed and tested against several strategies that have been developed. In the first instance the objective is to generate contingency plans in anticipation of future events. In the second type of scenario, management is concerned with testing a strategy against a number of scenarios with a view to making go/no-go decisions. Generally it is optimal to work with two or three scenarios, otherwise the process becomes unwieldy. 

6. American business have been accused of being short-sighted, looking at short-term financial performance instead of taking a longer-term view. What can a manager do to make sure that he or she is managing for the long term? How would you go about advising a department store to generate indicators of long-term success? Be specific.


Not available.
7.
What are assumptions underlying the growth-share matrix? When are these assumptions likely to hold? What is the historical contribution of the growth-share matrix? -Chapter 14-
All firms should regard their businesses as a portfolio of business units. Additionally, firms should then learn to prioritise those business units in terms of contributions to the firm’s bottom line and the prospects of if continuing to do so. The growth share matrix proposed to analyse these business units along the parameters of market share and market growth rate and assumed that by categorizing firms into one of four resulting quadrants, a firm could develop an effective portfolio strategy allowing it to make investment, divestment, milking and holding strategies across a range of business units. While simplistic, the growth matrix did highlight the issue of allocating resources across business units- with some e.g. Cash Cows effectively subsidising less established units such as those in the Problem Children category. 

8.
Discuss the considerations involved in making the decision to expand or broaden the product line. -Chapter 12-
Whether the innovation is transformational, incremental or substantial, to begin with the firm could ask of itself a series of questions about whether the market is real, whether the product is real and could be competitive, whether the company can be competitive, whether the product would be profitable at an acceptable level of risk and whether launching the product makes strategic sense.  With any such proposal there are a number of fatal biases that can curtail success: short term financial pressure, the silo curse, the curse of success, the curse of being an incumbent in a market, the commitment curse and finally the curse of size.  Management need to address these potential challenges in considering expanding or broadening the product line.  

9.
Describe the distinctions between strategic commitment, strategic opportunism, and strategic adaptability. -Chapter 7-

These three represent different strategic approaches whose primary differences can be expressed according to several organizational characteristics including management perspective, orientation, leadership style, organizational structure, future perspectives, people and risk. Strategic commitment is concerned with continuous improvement requiring a charismatic leadership style and a centralized organizational structure with a long-term view enacted by people trained to be alert. Strategic opportunism is more focused on fast responses instead of a committed orientation. Leadership styles tend to be more tactical in a more decentralized structure that focuses on the short-term enacted by human resources that tend to be more entrepreneurial than well-trained. Finally, strategic adaptability is about adapting to changes in the marketplace and being relevant. Leadership styles tend to be more visionary than tactical operating in a flat organizational structure with a medium-term view of the market enacted by a diverse staff with a range of skills and expertise. Whereas strategic commitment approaches can lose relevance over time, strategically adaptive approaches can falter by misreading trends. 

10. Describe and illustrate the following terms:

-Scenario analysis - chapter 5

-Strategic uncertainties – chapter 2

-Synergy – chapter 7&15

-Strategic opportunism – chapter 7

-Strategic drift – chapter 7

-Key success factors – chapter 4&7

-Experience curve – chapter 8

-Silo barriers – chapter 15


-Scenario analysis: The process of making strategic decisions to reduce uncertainty through envisioning and possibly creating scenarios against which strategies can be tested or upon which contignecy plans can be developed. Scenario analysis is a three stage process that begins with identifying scenarios, relating scenarios to existing proposed strategies and finally estimating scenarios possibilities.


-Strategic uncertainties: Focus on particular unknown elements that will affect the outcome of strategic decisions. 


-Synergy: is the concept that whole is greater than the sum of its parts or that two businesses working together will either increase the customer value, lower operating costs or reduce investments. For example synergies may arise whereby offering a set of products will generate  a higher return than would be possible if each product was sold separately for example coffee and cookies.  


-Strategic opportunism: Is a strategic approach that is characterized by entrepreneurialism, short-term thinking, tactical leadership styles and a decentralized organizational structure that allows it exploit opportunities quickly and relatively easily compared to other strategic approaches.


-Strategic drift : Is a risk for firms that engage in strategic opportunism. Essentially it means that as a firms acts continuously in the short-term it can incrementally drift off course of the general market trends and find itself out of sync with developments in its industry and customer base. 


-Key success factors: Are those assets and competencies that provide the basis for competing successfully. There are two types: strategic necessities and strategic strengths. The former are the minimum that is required to compete and the latter are those that at which a firm excels providing a base for competitive advantage. 


-Experience curve: Is a classic proven concept which indicates that the more often a firm executes a task or performs an activity the more efficient it will become at doing it, as such costs will decline at a predictable rate. It is based on the fact that over time people learn to do things better, technologies improve and products and processes are designed tending toward simplicity. The Ford Model T is a classic example of the experience curve taking effect, dropping in price dramatically over its lifecycle  and expanding the market considerably as a result.


-Silo barriers: Problems with information sharing and communication internally in an organization can arise due to the potential for silo units to occur. In respect of marketing this can result in several problems that deflate synergies and can eliminate competitive advantage.  

11.
You have been given the task to evaluate a market opportunity for a firm. Give specific examples of the dimensions you would use to determine the attractiveness of a given market. -Chapter 14-

In this case, the analyst could use a modified Business Growth Matrix to identify and qualify a market opportunity. In so doing, two parameters should be used – market attractiveness and the firm’s ability to compete. Each of these can be categorized as high, medium or low, resulting in nine possible combinations. Three of these scenarios represent situations where it is advisable to invest or to grow a business, the other options being to engage in selective investment or even divestment. When either market attractiveness, business position or both parameters are high then a firm should invest in a market opportunity. When either or both are low, a firm should harvest or divest and otherwise the firm should engage in selective investment. Specifically, the firm’s ability to compete depends on factors such as the organization, growth , its market share by segment, the margins it earns, patents, marketing, distribution and technology skills, customer loyalty and organizational flexibility. Market attractiveness is affected by size, growth, customer satisfaction levels, nature of competition, price levels, profitability, government intervention and regulations, sensitivity to economic trends and the level of technology in the sector.

12.
Discuss Competitor Analysis. In your discussion include the following: the objectives of competitor analysis and the elements of competitor analysis. You should use information from the course including articles, cases, and textbook material to support your answer. 
-Chapter 3-

Competitor analysis is the second phase of external analysis. Its main goal is to generate insights that will influence the development of successful business strategies and as such the analysis should focus on identifying threats, opportunities and strategic uncertainties that have been created by emerging, existing or potential competitor moves, weaknesses or strengths. It begins with identification of competitors followed by evaluation of those identified. The identification process can either place competitors in strategic groups on the basis of their competitive strategy or alternatively, they can be grouped according to the degree to which they compete for a buyer’s choice. In terms of evaluating competitors there are eight elements to consider: image and positioning; objectives and commitment; current and past strategies; organization and culture; exit barriers; cost structure; strengths and weaknesses and finally size growth and profitability. Further a firm may engage a competitive strength grid to generate a compact summary of its competitors based on their assets and competencies.   

13.
Discuss Environmental Analysis. In your discussion include the following: the objectives of environmental analysis; the dimensions of environmental analysis; and how to deal with strategic uncertainty. Use information from the course including articles, cases, and textbook material to support your answer. -Chapter 5-

This is the last and broadest area of external analysis the firm will conduct. From here, management should identify strategies for dealing with strategic uncertainties. While it is such a wide topic, one can say the overall goal of environmental analysis is to identify any trend that could potentially influence the firm’s strategy. There are five main areas of interest- technological trends including their impact, consumer trends, government and economic trends and finally general external analysis. From these the firm may then engage in scenario analysis which will help reduce strategic uncertainties. Typically many strategic uncertainties will have emerged from the environmental analysis and what remains is for the firm to group and prioritise these into clusters based on their immediacy and the depth of their impact on the firm. From here, the firm may then conduct scenario analysis to estimate scenario probabilities.

14. 
What at the payoffs to creating a new business? What are the risks? -Chapter 12-
The primary payoff is that the innovator earns more than the average firm due to the innovator’s advantage. This may be due to first-mover advantage, or because competitors are not able to respond, thirdly because the innovator can create enhanced customer loyalty. While generating innovator’s advantage requires investment and quick actions, there are also several common characteristics of successful innovators: they tend to envision the mass market, display managerial persistence, engage in relentless innovation, exhibit financial commitment and leverage assets effectively. Creating a new business can mean the firm enters what Kim and Mauborgne described as the blue ocean- where competition does not yet exist and the firm is free to capture the bounty of the market by virtue of its innovative strategies.  Whether it can sustain those advantages is another thing, because there are a number of dangers including the curse of success, the short-term financial pressure curse, the incumbent curse, the commitment curse and the size curse – all factors the firm needs to anticipate and deal with if it engages in creating a new business.

15.
Discuss Internal Analysis. In your discussion include the following: the objectives of internal analysis; the benefits of conducting an internal analysis; and the elements of internal analysis. Use information from the course including articles, cases, and textbook material to support your answer. -Chapter 6-
Organisational analysis is undertaken to identify organizational strengths, weaknesses and constraints and ultimately to develop responsive strategies by either exploiting strengths or fixing and or compensating for weaknesses. Conducting such an analysis will help management answer questions about whether the existing strategy should be enhanced or altered or even replaced. The level and depth of information available to management will be rich and varied but can be categorized into four main areas – financial performance, strengths and weaknesses, threats and opportunities and finally other dimensions such as customer satisfaction, brand association, relative costs, employee capability to name a few. 

16.
Discuss the concept of customer value proposition and give examples. -Chapter 8-

The customer value proposition is the way an offering appeals to new and existing customers. It should be offered in a relevant and meaningful way reflected in the positioning of the product and should be sustainable over time being easily differentiated from competitive value propositions. In that respect firms must address a number of issues in determining which propositions to pursue. For example they must determine if the customer value proposition is real and whether it is perceived by the customer, remaining relevant to the customer. Further the firm must decide whether that value proposition is sustainable and if the firm can execute the strategy to realize that position. Having done so the firm faces a number of alternative value propositions. It can become a niche specialist, offer value or quality, promote brand familiarity, highlight product attributes and benefits, act globally, provide systems solutions, engage in corporate social responsibility programs or provide superior customer service to name a but a few.  

17.
How could you energize a business? Illustrate your answer. -Chapter 10-

There are three essential ways a firm can energise the business. It can innovate to improve the offering. Secondly it can energise the brand and the marketing. Thirdly it can increase the existing customer’s usage of its products or services. In terms of innovating the offering, the firm can improve the customer experience, enhance the product through innovation or introduce line extensions, In that respect branding the innovations helps with communication and adds credibility providing potential to own an innovation so that it can be used as a point of differentiation over time. This is the essence of branded differentiators, which augment the product offering.  These can be either features, ingredients, technologies or services that affect the offering.  When energizing the brand through marketing, there are a number of ways to energise the brand including involving the customer, going directly to retail, engaging in publicity events or promotions to attract new customers. Companies can also employ a branded energizer such as a celebrity or a high-profile CEO, or engage in activities like branded social programs to garner credibility and heightened awareness.  Finally customer can be encouraged to increase usage in a number of ways: by motivating heavy users to consume more, by making use easier, by providing incentives, by removing the reasons not to buy, by providing reminder communications, by positioning for regular or frequent use or finally by finding new uses for the offering. 

19.
What role does innovation have in strategy making? Give examples of firms who have a history of doing well with innovation and discuss the impact that has had on them.


-Chapter 1, 5, 10, & 12-

Innovation plays a central and fundamental role in strategy making. From the very early stages of strategic analysis whereby the level of innovation inside the company and outside must both be assessed by means of internal and external analyses. For example technological trends identified as part of the environmental analysis and competitor analysis will contribute to the firms understanding its strategic requirements. In that respect innovation will also play a role in the firm’s own strategic plans – it can be a source of revitalization for energizing the business by means of enhancing the product through innovation, extending product lines, improving the customer experience or indeed creating branded differentiators. Also, innovation can lead to a competitive advantage if the firm can leverage its innovation capabilities to leave the red ocean of established business models and enter newer blue oceans defined by innovative business offerings. 
20.
What is the innovator’s advantage? How can a firm enhance the chances that the innovator advantage will materialize? -Chapter 12-

The innovator’s advantage is the reason new business innovators tend to earn more than the average firm in an industry. The innovator’s advantage can be attributed to the company simply taking advantage of being the first to move, or it may be that they have created a competitive offering that competitors simply cannot emulate. Thirdly it can be because the firm can create enhanced customer loyalty. To ensure that it materializes the innovator must enter the market early and invest to build its position. Similarly there are a number of characteristics that the successful firm exhibits. They tend to envision the mass market, management are persistent exhibiting financial commitment, engaging in relentless innovation and leveraging assets. There are also a number of risks to consider when bringing the idea to market such as the dangers of a short-term financial focus, the risks inherent in silo structures, the curse of success, the curse of being the incumbent, the commitment curse and the curse of size. 
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